Proportion (FTHTIUTd)

Concept Lecture - 7




Proportion and continued proportion:
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If V2 : (14+3):: V6 : x, then x is equal to:
V2 : (TFV3) :: Y6 : x, @ x & AT &
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Find the 3rd proportionalto 5,3 aﬁ:l 12.
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If ab, bc,gand cZ are in proportion, then find x, if
none re equal to zero.

3R ab,bc,x 3R ¢ AT & § 3R o4 @
FE st 7T & R AG § A x F1 AW q@3H|
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The 4th proportional to 0.12, 0 21 8ise
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If two nos. are 4 and 8, the 1st proportional
to these nos. is
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Find the mean proportional of 0.4 and 0.9.
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What is the 3rd proportional of nos. 4 and 48?, z
HEAT 4 3 48 &1 eI 4T B
a) 675 b) 476 76 d) 586
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What is the ratio of the mean proportional
between 4.8 and 10.8 and the third
proportional to 04,and 2.4?, x

4.8 3X 10.8 & diw m'zr T ATel T
A 04 33k 24 F @ S
T[T FT [T AT 82

a) 2:3 (b))t - 2 93:2  d)z:1
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@ b Find two numbers such that their mean
' proportional is 18 and the third proportion to
them is 144.
a,lg, b & O FEEEt W oAa W e sitad
~—" squrfa® 18 3R e sequfas 144 §
a)6and42  ((b)9 and 36
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3,71, 8.9 and 90 are four numbers, then

Wded in these numbers to
make In proportion?

63,71,80 3R 90 IR TEIW § a
gdd H FAT AST A0 difer A5 EIIT
FATIIIIF gl ST

a6 (b)s c) 4 d)2




What number should be added to each of the
Do’ numbers 103,135,110 and 144 so that the
* DoS resulting Wn? .

103,135,110 3R 144 # Y% WA A
€ Pt FEa N S TRT f raw
X |15 55 qﬁunmwmmwmmﬁe’r?
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When x is subtracted from each of 19,;%35 and 91, the numbers so
obtained in this order are in proportion the vaiue of x?

ST x & 19,28,55 3 91 H# & YAF & AT AT ¢, af 59 HA
A YICT FEATT FATTT A gl §] x FT AT AT FI7?
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What x is added to each of 2,3,30 and 35,
then the numbers obtained in e 7 are
in proportion. What is the mean
proportional between (x + 7) and (x — 2) ?
ST 2,3,30 3R 35 # & 9AF F x =T
ST g, @ 59 %A #H YItd HEJ,
FAEAfaF gt 8] (x+7) AR (x-2)
& &g =1 AeT Tl FAT FI?

a)7 b) 4 5 .6

| SSCCGL T2,11 SEPT 2019 | 16



If x is subtracted from each of 24, 40, 33 and 57, the numbers, so obtained
are in proportion. The ratio of (M"‘ 15) is:

24, 40, 33 A 57 H ¥ YAF § x G W, ST FEAW FARIIT H
gl (5x+12) 3 (4x + 15) FT ITIT AT F]

4-:13 b)4:3 c)7:5 d7:4
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When x subtracted from each of the numbers 54, 49, 22 and 21, the numbers
so obtained are in proportion. The ratio of (8x — 25) to (7x — 26) is:
gEITAt 54, 49, zz3ﬁrz1ﬁ#q§ﬂg¥#xaﬁmwmm
AR A § (8x — 25) 3 (7x — 26) &7 3e[uTd AT F

a)5:4 b) 15 : 13 @29:24 d) 27 : 26
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k-10, K+0, k123

—lo, 10, 38

-10, 10, 10, 33
e

-280 2% (6D

YKo - 6o
g

10 Less than a given number K,
10 more than the given number
K and 38 more than the given
number K are in continued
proportion. Find the given
numberK where K > 0.

&Y TS TEAT KT 10 FA, & T
TEAT K ¥ 10 3faw 3k &
IE AT K ¥ 38 m
far srequra & & O A
& K AT el S K >
0.

a) 70 b) 50

@60 d) 40
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If a,b,c,dand e are in continued proportion,
%33’;3: 2, the %isequalto

I a,b,c,d#R e PRAT g & § O Saww

a) a3/b3 vhﬁl‘*/b‘* c)b3/a3 d) b*/a*
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What is the mean proportion between (15+
V200) and (27 — V/648)?

(15 + V30@) 3R (27 — V648) FT AU 4T 87
a)4 b)14V7 ) 3\/3& d) 5v3

gx 8/
Vool
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by a-b_ dtb
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If b is the mean proportion of a and c, then
(a—b)3:(b-rc)3 equals

ba 3R FgqE
mwcrrﬁa;(:m:mmﬁa:) g, @ (a-
b)3: (b _ o} FrATTHY|
a) a® b) b?: ¢?

c) az:c2 \;ﬂ/q3:b3




If b is the mean proportion to a and c with

common ratio 3;/izhen (a—b)3:(b—c)3is

J}aﬁ o 3 c @ AT b ¥ AR
sUET At & Wy WSy 2, ¥ A
a—b)3: (b —c)® FT AT AT AT

WIN

: 2 b)l1:1 c)2:3 d1:2
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